Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

Tnpsc Aptitude & Mental Ability Model Questions Set 1

1. Calculate the area of a sector whose radius and arc length are 6 cm and 20 cm

respectively.

S 6 Q&8 eMevedlsar Herd 20 Q&.L5. Qameso(Reinen eul L& CoHmeorLl

UGHUN6T LIL6mLIS SIT600s.

a. 120 cm? b. 80 cm? c. 60 cm? d. 100cm?

2. If x is 80% of y, then what percent of 2x is y ?

x 6T6OTLIG] y-60 80% 6T60TI6D 2x 60T 6THGHEM6EN FHAIGHLD y QY@ LD.

a. 40% b. 62 2 % c. 66 2/3 % d. 80%
3. LCM. of 2, 2,2, L is
39 6 12
2 4 5 7 . . . .
3 SpAweumlest WBFHM QUTS L KIS

a. 118 b. 1/36 c. 35/9 d. 140/3

4. The difference between compound interest and simple interest on a sum for

2 years at 8 percent is Rs. 768. The sum is
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@neu(® UBLMSELESGS 8% Ul lg alfFHHHe erafll LOMID Fal (B

QILIgSHGLD 2 6mem GCaumium(y €h. 768 6T6vTleL CIGTMSUITEIS)

a. Rs. 1,00,000 b. Rs. 1,10,000 c. Rs. 1,20,000 d. Rs. 1,70,000

5. 5 men and 2 boys working together can do four times as much work as a
man and a boy. Working capacities of a man and a boy are in the ratio:

5 SLETIGHET LOMHMID 2 6MLILIETSHT @Qemeunihd CFILIGMD Calsnev 6(h LD6UTIS 60
OMID €@ mUleh QFWHTMH Galsmeouile oiemalled 4 OLRISTGLD. (5
SLETT LMHMILD e emLWI6H Golemey CIFUILIGTnlq Ul &6oTemLOUT6oT

aN&FLomeus)

6. 3 men or 5 women can do a piece of work in 12 days. How long will 6

men and 5 women take to finish the work?

3 QLEUHET 3I6LEVG 5 CILIETIIGHENT (b Gouemevsmil 12 BHITL&erleL GFUIG)
(Pl SHETMETT 676060 6 LETIGHET LOMMID 5 CLITISHET SihFH CeUsmEVEMIL

6156060 HTLSHaNeL CFWIG (LPlgLILIf?

a. 20 b. 10 c.4 d. 15
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6+6+6+6)+6
7. The value of (SX6ro+e)+s
4+4+4+4+4

(6+6+6+6)+6

LD@ULI 6ot 4+4+4+4+4

a. 1 b. 3/2 c. 4/13 d 3
8. If x:y =2:1then find (x2— y?) : x?+y?

x:y =2:1 eefled (x2— y?) : x? +y? Gmewor.

(o]

. Simplify ggj—zx 245
. 48
FHEGS. 99X 245

a. 24495 b. 24899 c. 24485 d. 24895

10. The LCM of 2 numbers is 2079 and their HCF is 27. If one of the

number is 189 then find the other number is

@uen(y stenseMent LHFHM QLTS 6u@ eT6vor 2079. WLQALIH QUTH €U eT6w0r

27. SIH6L 6x(Ih 616U 189 6T6BTI6L H(BHGHS 6TEVUIENETIIS S6voT(HLIG..
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a. 298 b. 297 c. 397 d. 498

11. If 2A = 3B = 4C. Then find A : B : C
2A = 3B = 4C ¢letfleb A : B : C &IT6wol

a. 2 :3:4 b. 4 :3:2 c.6:4:3 d 20 : 15 : 2

12. A student multiplied a number by % instead of g What is the percentage

error in that calculation?

€2(Ih LDIT6UITEU6DT €2(IF 6T6U0T60I6U0T g 61601 CILIHHG6USMG LSl6LNd g 6T60TM)
QUBSHNLLTEL, SHEML SHGHSH HEHHD JOUBD FHABL LNMLNE

SIT60015.

a. 34% b. 44% c. 51% d. 64%

13. If the diameter and height of a right circular cone are respectively 12 cm

and 8 cm. Then its slant height is

GChJ QL& FaNedT e LD WwHmID 2wy WemoGw 12 Q&.L5 wmmib 8

Q&L 6Teall6L 4G60T FMUJWITLD 6TEITLIG)
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a. 10 cm b. 20 cm c. 30 cm d. 96 cm

14. The perimeter of a rectangle having area equal to 144 (cm)2 and sides in

the ratio 4 : 9 is

@ QFeUeUSHHHET LPLIL 144(Q&F L) 6163160 GG LISSHMISET 4 :

61601 NHHHEHL Q(HSGLOMETEL GHEMIML LI HMMETE 6T6LEUETE?

a. 52 cm b. 56 cm c. 60 cm d. 64 cm

15. According to the Boolean Equation, the expression A + A is equal to
L 6OILIGOT &LOGOTUIML Iq60TLIlG. A + A 6T&M@&GF &LDLD?

a. A b. A c.0 d. 1

16. If the base of a cone is not circular then, it is called

9

FalDLN6ST SIQLILIMSLD UL L 6lgalled @eLemev 6T6tileL, i) S GLD.

a. circular cone (6L L &&alDL))

b. oblique cone (&M6Y& &SnlDL])
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c. right circular cone ( GBIJeULL & &aldL])
d. oblique and circular cone (§MUe| WOMID QILL & FalbL)
17. The arc length of a sector is 66 cm and the central angle is 30° . Find

the Radius

eMeLedlstr Hemd 66 Q& .5 LMHMID MLDWIGEHTETID 30° ClSMEToTL

QIL L &Cameunll LGS U6 Qb SHITeyor.

a. 166 cm b. 140 cm c. 122 cm d. 126 cm

18. If a* b= ab , find the value of 3 * (3 * - 1)
a+b

a* b= % , 6TeMled 3 * (3 * - 1) &L ST6HuIS,

a. -3 b. -1.5 c. -1 d. 2/3

19. A and B together can do a piece of work in 8 days. But A alone can do

it in 12 days. How many days would B alone take to do the same work?
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@ Geausmevemil A, B @(heu(bd C&JH&E 8 BML&6TeL (WigLiLj. A LB
Sl6UGeusmevsmUt 12 BTLSaT6L (LPIgLiL]. B DL (B HeUCEUMELEMII 618 S 6m68T

BITL_SeMeL (LPLg LILIMI].

a. 24 days b. 25 days c. 23 days d. 22 days
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